Item Stem: Yolanda is studying for a test in science class. She looks at her notes from one month ago. Which of the following entries is the most helpful for studying for a test?

Answer Option A: "Learned about atoms."

Answer Option B: "Magnets attract metal."*

Answer Option C: "Animals not plants."

Answer Option D: "Lead and bronze."

Rationale for Option A: Knows that information about atoms will be helpful

Rationale for Option B: Correct

Rationale for Option C: Knows that a comparison is referred to

Rationale for Option D: Knows that specifics are referred to

Item Stem: Mr. Hawthorn has a drill that uses a battery pack. The parts of the drill are shown and labeled below. What does Mr. Hawthorn need to do to drill a hole?

Art Specifications: drawing of a power drill (labeled "drill") with an arrow pointing at the trigger (labeled "trigger"), a battery pack that inserts into the handle of the drill (removed and shown separately, labeled "battery pack"), and a drill bit (also shown separately and labeled "drill bit")

Answer Option A: Check to make sure the drill bit fits into the drill

Answer Option B: Put the battery pack and the drill bit into the drill*

Answer Option C: Point the drill at the place he wants to drill the hole

Answer Option D: Hold the battery pack and press the trigger of the drill

Rationale for Option A: Knows that the bit must fit into the drill

Rationale for Option B: Correct

Rationale for Option C: Understands that the drill drills where it's pointed

Rationale for Option D: Knows that the battery pack needs to be used

Item Stem: For the science fair, Sarah is going to keep track of how fast something grows. The fair is only two weeks away, so she wants to use something that will grow quickly. Which of the following would be the best for her to use?

Answer Option A: Her mother's hair

Answer Option B: Her 12-year-old pet cat

Answer Option C: A tomato plant in her garden*

Answer Option D: The pine tree in her front yard

Rationale for Option A: Knows that hair grows steadily

Rationale for Option B: Knows that cats can grow quickly but ignores this cat's age

Rationale for Option C: Correct

Rationale for Option D: Assumes that the tallest will grow fastest
